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Dékujeme za pozornost



Otazky

1.

Can you elaborate more on the reweighing in Section 3.3? Why do you
assume it will help? How exactly did you arrive at the presented value?

How exactly does the best model you found compare to the current
commonly-used manual measurements? The MAE is less than 3 cm, but is
this actually useful?

How are the anatomical distances in the dataset measured? Are they reliable
enough to use for the model?

In the Section 5.2 you used cross-validation to find the optimal a, did you also
use cross-validation to test the other models?



